aC

=z

(o
O
4
O
)
i
#E
el

=
|

&

iR

2




CHYZE (S

A

2l
=




24 BB M EST

/ EBEEEEE
SR

G A ]

Memo-B ankigEl




i =2

1. A-E/\//I'_'I ,\E ,;.E',ZLY(

50 BY 2 1

asl:p)

R B JE)

LMD

‘\\\\nlnn
»



i = 5C BV &= 15

2. FEERERNZE (3-41ZERE) -6 HE 13

3. {EFIAL

4. IZH AR




I G EERENY
=P BREL - FEFZ

= ML =P IRE 5B

FILET ~ BEEGATES « EREE




RIS EEC/A
BRAEECA
EEWECA
IV [Bl7E



A 5CE% Record
B f51E Reduce
C @M 5/ Recite
D % FE Reflect
E 23 Review

SRR R

5C A (5K7K)

llitf?-'l# @ pravpey

B 2] # = 1 A=
7 RE g = SOk EE Bh

© mum.

ciaztiE B3R

b
=




A 3CE% Record

B 1L Reduce
C 5877554 Recite
D & F& Reflect
E {52 Review _

8RR - 2E K




R K250 A
A 5Ci% Record
B f1C Reduce

C /I 5@ Recite
D [z & Reflect
E 2& Review




K HWmER A
BB IURR

'-Ir-
AARA (wEs)

4k -_%A\L

wir ‘IJ'H:H

B #Ak/ZEE | C /45




X5 WmE A

R EBURE _
‘ |

5 b |n
o8

3 - 17
- Tl R
ot MR RL ") e et - —~
AT SHR - SRR . SR R
B X - & FE 8 (5 B p
E%E MH)‘('F;*
il R W R o

= =

&

(=

AR . 41

A NABuShttps://www.managertoday.com.tw/articles/view/S3142




L& Bl

ERIEEAN EMEMEaE | .

2. 53 $8 B P =B
(1) PR - BRI BE T A
(2)#R 1z R $E 31 % d

Tt . : FLE]
AV e N =
tO2RE et &

JBB 80 i o ek —— o s LT
3. BIEE AR & &

4 .MIENRELSE TS BR50E | BIESE

https://flipedvu.parenting.com.tw/article/O031011



https://flipedu.parenting.com.tw/article/007011

15 T | O | |

IR

fi
]
m
HE
1
=3
i

Ol £ RR RV TR BB 14




H it ARV [E &

=27
5 RSB 7 2 B 4R P L2




HF AR E =
O LB
O EM 2V = RIEE] e FHE

I




H A RV [E &

U a4
ORBZIEML =V S Y TE




H it ARV [E &

U R AR
OFTim =15 ZBEHIIE




SQ3RMEE]
1.Survey (2% )
2.Question (2R )

3.Read (FH5E)
4.Recall/Recite (E:E)
5.Review (%)




SQ3RMEIE

F 71l







